532 2001 21
:TQ330.7°3 :1006-8171(2001) 09-0532-05
(3
(4) ;
( (T &RA)
)
: (
SAE )
J1270, ( )
(5
1
(6)
3
(1) —
() —_— (7
(3 —_— ,
(8
2 0.4m
(1) (9)
24

(2)



533

3.1
(1)
1.708 m
(2)

(3)
(80 )
3.2

0.5N ,
2.2N

6.4
3.3.1

0.2 mm
0.3
0.71°
0.3

20N
35N
45 N
1.5 kPa

2km-ht?
4.5

6.2

6.2 )
3.3.2

3.3.3

3.4

3.4.1

3.4.2

+0.3km-h™?
+0.8 km-h™?

0.5N
2.2N

10 N
20N
30 N

1 kPa
1.5 kPa
0.2

1km-h*!

0.5N
1.0N

1 mm
2.5 mm



534 2001 21
(+):
0.3N-m 4.1
0.5N-m ,
0.6 N-m
3.4.3
1 1
(£): 4.2
10 W , )
15w
20 W 2
1A
0.2km-h? 2,3
0.3km-h*?
4.3
4
, 4.1 4.2
1
1 2 3 4 5 6
/% 90 90 50 50 — —
/ kPa - 50( +70( ) - 30( +70( ) — —
27 9% 100 70 70 40 40 40
1 % 100( )y 60( )y 110( 30( ) 60( )y 110( )
I/ 9% 100 100 75 50 25 —
*1 % 100( ) 95( ) 70( 120( ) 70( ) —
1) :2) :3) * + 3
2
1A 2 3 4 5 6
9/ 9% 90 90 50 50 — —
I kPa - 30( )y +70( ) - 30( +70( ) — —
2 % 100 70 70 40 40 40
1 % 100( ) 60( ) 110( 30( ) 60 ( ) 110( )
I % 100 100 75 50 25 —
1 % 120( ) 95( ) 70( 120( )y 70( ) —




9 535
4.4
80 km-h™*!
4.5
20 (2 ;
28 b
24
5 (3
5.1 :
1 (
, 5.4.2
1h; ;
2h ,
)
2h, 6 h 4.5
5.2 5.5
2 h; (1)
6 h ,
( 41 ),
1h 100 N
5.3 150 N
220 N
; (2
30 min
60 min
90 min
10 min
15 min 6
30 min 6.1
)
5.4
5.4.1 (D
(1) ; ; (2)



536 2001 21

) 7
6.2 - ,
7.1
Cr = Fr/ F7
) ) CR ]
; = N
1 ( ) 7.2
t 2!
2 1
6.3 Fr= Fz(Ao+A1 Fz+ Ao/ P)
FR = A0+ A1F2+ Az/ P+ A3Fz/ P+
(1) A4 Fsl PP
FrR = Fx(1+ R/ R)
Fr N FrR= Ao+ A1Fz+ AsFzd P+ AgF/2/ P
FX 1N1 P_ kF)a
R M. Ao, AL, A
R—— .m
(2
Fr = T/ R
T— N-m
(3
Fr = 3.60P/ v 7.3
P_ 7W;
v km-h?
6.4 Fr = Fr,(1+ 1/ R) "2
24 oy — N
' FrR —— N;
Fr, = Frll+ k©®a - 0p)] "
r ,m
Fr, ,
N;
N . SAE
Or o J1270
-1
kK— , ( )
k : k “ SAEJ1269 MARS?”



